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QUIZ
FOLLOWS



f(z) =ab/6, ['(z)= a5
slope of tan. line at
(2, 2°/6)

(a) 2°/6

(b) 2

(c) (2°/6)°

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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flz) =23, f'(z) =322

ed’'n of tan. line at
(2, 8)

(a) y — 2 = 3z2(x — 8)
(b) y — 8 = 3z?(x — 2)

(c) z — 8 = 3z2(y — 2)

(d) none of the above
0% 0% 0% 0%
. =N S AN
Correct:y —8 =12(x — 2)|“—— . —,

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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(sinx) —x ~ —:U3/6

im (sinz) —x
r—0 | 3 —|—2£U4
(a) DNE ) -

= 77

(b) —1/6
(c)1/6

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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622 + 7Tx% — 823
im |8 T Tl =27

=00 | 7x2 — 24 4 9z3

(a) DNE
(b)8/9

() 6/7

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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lim = 77
T— — 00 3T

(a)1/3

(b)—1/3

(c) DNE

(d) none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
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lim = 77

(a)1/3

(b)—1/3

(c) DNE

(d) none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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lim
r—5

323 —2x+ 8
r—5

(2) (3)(5%) — (2)(5) + 8
(b) —oo

(c) oo

(d) none of the above

0% 0% 0% 0%
Correct answer: DNE N 5 . -
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i 3 -
i 100z~ + 2z — 1 _ 7

r——oco |z% — 3+ 2241

(@) oo
(b)) —c0

(c) 100

(d) none of the above
0% 0% 0% 0%

Correct answer: 0O . N . .

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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10023 4+ 22 — 1]
lim Tt 2 — 77

z——o0o | x34+x24+1

(a) 100

(b) oo
(C) —oc

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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10023 4+ 22 — 1
lim * * — 77

T——00 x—+1

(a) 100

(b) oo

(€) —oo

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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10023 4+ 22 — 1
lim * v — 77

Tr—r 00 T + 1

(a) 100

(b) oo

(€) —oo

(d) none of the above
0% 0% 0% 0%

R v > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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z:et—|—4t3
Nz =77

(@) [ A0 - a(t + (A1))3] 4 |ef + 463

(b):et—l-(At) + 4(t + (At)):ﬂ - :et —|—4t3]

(C)[et (B0 — 4t + (A1))3] + |ef — 4¢3]

(d) none of the above
0% 0% 0% 0%

R Vv > ™

1 2 3 4 5 6 7 8 9 10 | 11 12 13114 |15 )16 |17 | 18 | 19 | 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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|ng(1) = 77

(a) 0
(b) —1

()1

(d) none of the above

0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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INQ = 77

(a) 0
(b) —1

()1

(d) none of the above

0% 0% 0% 0%
Correct answer: DNE N 5 . -

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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logg(1/8) = 77

(a) 0
(b)1

(c) -1

(d) none of the above

0% 0% 0% 0%

R v % ™

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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|Oglo(0 01) = 77

(a) 0
(b)1

(c) -1

(d) none of the above

0% 0% 0% 0%
Correct answer: —2 N 5 . -

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40

0 of 5 Topic 0260 10 pts “




T or F:
f incr. on (2,3)
= f/>0o0n (2,3)

(a) True

(b)[False

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
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T or F:
f incr. on (2,3)
— f/>0o0n (2,3)

(a) True

(b)[False

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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(a)

(b) False

True

T or F:
f incr. on (2,3)
£ diff. on (2,3)
— f/>0o0n (2,3)

Y %
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40
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T or F:
>0 on (2,3)
—  fincr. on (2,3)

(a)|True

(b) False

1 2 3 4 5 6 7 8 9 10111 12131141516 |17 |18 ] 19 | 20
21 | 22 | 23 } 24 | 25 | 26 | 27 |} 28 | 29 | 30 | 31 | 32 | 33 | 34 | 35 | 36 | 37 | 38 | 39 | 40
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T or F:
f/>0on (2,3)\{2.5,2.6}
f contin. on [2, 3]

= fincr. on [2,3]
(a)|True
(b) False
IlOi IlOi
1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
21 | 22 | 23 | 24 | 25 | 26 | 27 | 28 | 29 | 30 | 31 | 32 | 33 | 34 |} 35| 36 | 37 | 38 ] 39 | 40
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additivity of error
homogeneous vs. inhomogeneous
homog. linear polynomial in z, vy, z

LOOK AHEAD

d/dt and d/ds

differentiation
differentiation w.r.t.  of expr. with y
log diff



